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DISTANCE FORMULA.

Date Geometry CC
Unit 11 Lesson 1 Distance WORKSHEET

1. Ifthe endpoints of AB are A(-4,5) and B2,-5),

what is the length of AB to the nearest tenth?

2. The endpoints of .Eé are P(-3,1) and ©(4,25). Find the length of @

3. The coordinates of the endpoints of FG are (-4,3) and (2,5).
Find the length of FG in simplest radical form.
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4 Find. in simplest radical form, the perimeter of g
APQR with vertices P(4.6), Q(0.9), and R(-4,-9). .
G
5
i
3
2
1
10 0 LR HEERER
2
3
4
5
5
7
g
9,
10




Date

Geometry CC

Unit 11 Lesson 2 Midpeint and Slope Worksheet

1.

Line segment 4B has endpoints A(2,~3} and
B(-4,6). What are the coordinates of the mid-

point of AB?

2. What are the coordinates of the center of a circle

if the endpoints of its diameter are A(8,—4) and
B(-3,2)?

Point M is the midpoint of AB. If the coor-
dinates of 4 are (-3,6) and the coordinates of
M are (~5,2), what are the coordinates of 5?

Line segment 4B is a diameter of circle O
whose center has coordinates (6,8). What
are the coordinates of point B if the
coordinates of point 4 are (4,2)?

Midpoint Formula Slope Formula

5. What is the slope of a line that passes through
the points (~2,-7) and (-6,-2)?

6. What is the slope of a line passing through
points (~7,5) and (5,-3)?

7. What is the slope of the line passing through the
points 4 and B, as shown on the graph below?
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Unit 11 Lesson 3
Area of Polygons on a Grid

If the sides of a polygon lie on the grids of the graph paper (horizontal or vertical). the lengths of
the sides of the polyzon can be found by simply counting. You have used this counting methed in
the past 1o find such lengths,

Unfortunately, not all polygons are positioned so their sides lie on the grids of the graph paper.
When this happens we need to use more sophisticated techniques to find the lengths of the sides,

Find the area of AABC. [ Dealing with odd shaped pleces: l
A i Find the area of ABCD.
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Example 1  Find the area of quadrilateral ABCD with vertices
A1), B(3.4), C(8,5), and D(5.-3).
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Exarnple 72 Find the area of quadriateral ABCD wath vertices
B A(-4,2), B(0.5). C(3,3), and D(1,-5).
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Example 3 Find the area of pentagon ABCDE whose vertices

are A(-2.-3), B(-2.2). C(2.4). D(5.,2). and E(4.-2).
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Unit 11 Lesson 4

Writing Equations of Parallel and Perpendicular Lines

Slope_ Intercept Form Point Slope Form
y=mx+b y - y; =m(X - X,)
Strengths of this form: Graphing a line Strengths of this form: Easy to create an equation,
Determining the y-intercept
Determining the slope

Parallel and Perpendicular Lines

Parallel lines have slopes.

Perpendicular lines slopes.

Example 1:

Given the line with equation y = 3x + 4.
What is the slope of a line parallel to the line?
What is the slope of a line perpendicular to the line?

Example 2:

Given the line with equation 5x + 3y = 8.
What is the slope of a line parallel to the line?
What is the slope of a line perpendicular to the line?




Parallel, Perpendicular or Neither (just intersecting)
Examples

3. x+2y=4and 4y - 2x = 12.

4, y="%x-landy+4=-"%x~-2)

Writing Equations
Example 5

Write an equation represents the line that is perpendicular
to 2y = x + 2 and passes through the point (4, 3).

Example 6

Write an equation of the line that passes through the

point (6, -5) and is parallel to the line whose equation is
2x =3y = 1L.




Writing Equations of Perpendicular Bisectors
Example 7

Write an equation of the line that is the perpendicular bisector
of the line segment having endpoints (3, -1) and (3, 5).
[The use of the grid below is optional]

¥
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Writing Equations of Perpendicular Bisectors
Example 8

Write an equation of the line that is the perpendicular bisector
of the line segment having endpoints (-1, -3) and (5, 5).
[The use of the grid below is optional]




Writing Equations of Perpendicular Bisectors

Example 9

Write an equation of the line that is the perpendicular bisector
of the line segment having endpoints (-1, 1) and (7, -5).

[The use of the grid below is optional]
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Geometry CC

Lesson 4 HW: Writing Equations of Parallel and Perpendicular Lines

1. Determine whether the given equations of lines are Parallel (| |), Perpendicular { 1) or Intersecting (x).

a) 2x+4=y b) 5
y==x
y==2x-3 4
4
=——x+4
Y7

[| or L or x [| or L or x

2. Write the equation of the line that is...

a) parallel to y =-3x + 2 and goes through (1,5) in
slope intercept form.

¢) perpendicular to y = 5x + 4 through (-2,-3) in slope
intercept form.

3. Write the equation of the perpendicular bisector
of 4B, A (-4,4) B (4,8) in slope intercept form.

c) 3x+5y=15 d) y=4x-3
3x+5y=10 2y+12=8x
|| or L or x |[] or L or x

b} parallelto y = —;—x—4 and goes through (10,-2) in

slope intercept form.

d) perpendicular to y = -2x — 1 through {-5,2) in the
slope intercept form.

4, Write the equation of the perpendicular bisector
of AB,A{-2,7) B (4, 11) in slope intercept form.



G.GPE.B.5 WORKSHEET #1 ~ PATTERSON

5. The slope of OR is x; 1 and the slope of 5T is -g- If OR L ST, determine and state the value of x.

6. Two lines are represented by the equations 7. Line m and point P are shown in the graph below,

~1y=6x+10and y = mx. For which value of  will

Y

the lines be parallel?
1) -12

2) -3

3) 3

4) 12

Which equation represents the line passing through P
and parallel to line m?

1) y-3=2(x+2)

2) y+2=2(x-3)

D y-a=-Le+2)

4) y+2=—%(x—3)
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Unit 9 Lesson 5
Partitioning a Directed Segment

- A midpoint partitions a segment into a 1:1 ratio

Midpoint 47 e

A 3t g

I i + i L H
4 -3 2 A 1 2
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Definition: Partition means to separate or to divide. A line segment can be

partitioned into smaller segments which are compared as ratios.
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Example 1:

Determine the ratio of the directed line segment AB when partitioned by point P.
Let A be the initial point.

1



‘Example 2:

Determine the point P that partitions the directed line segment 2
into a ratio of 1:2,
where A (1,4) and B {4,10).

b

¥

If you want to partition a segment
into an a:b ratio, divide rise and
run by a+b and count!

Example 3:

Determine the point P that partitions the directed segment 43
into the ratio 2:3, where A(4, -5) and B (-1, 10)

Example 4:

Determine the point P that partitions the directed segment 43
-+ into the ratio 1:3, where A(10, -3)and B :2, 5}
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Using the PARTITION FORMULA:

¢ Mt a rive
(xi +(a+bj'(x2 -x;) W +(a+bJ'(J’3 “J”:)J

Example 5:

Determine the point P that partitions the directed line segment AB
into a ratio of 3:1 where A(1, -5)and B (9, -1)

Example 6: Using the partition formula
The coordinates of the endpoints of A8 are 4(-6.-5) and B(4.0).

Point P is on A8 . Determine the coordinates of point P such that
| AP:PBis 2.3,

Example 7: Using the partition formula

Point P partitions directed segment AB in the ratio of 3:4.
If 4(-9,-9) and B(5.-2), find the coordinates of P.
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G.GPE.B.6 WORKSHEET #1 — PATTERSON Name: 1

1. Determine the ratio of the directed line segmentﬁ when partitioned by point P. (Hint: A is the initial point)

B

//*"“"‘"”

a) : ) i

2. Determine the ratio of the directed line segment when partitioned by point P.

G P
. o

¢ P D P o
M
R ®

a) Directed Line Segment DC b} Directed Line Segment RT c) Directed Line Segment HG

3. Determine the point P that partitions the directed line segment ABinto a ratio of 4:5,
where A (5,-4) and B (14,5).

4. Determine the point P that partitions the directed line segment AB into a ratio of 1:3,
where A (8,6) and B (0,10).

5. Determine the point P that partitions the directed line segment ABinto a ratio of 2:1,
where A (0,5) and B (3,11).
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Date
Review: Unit 3-11 Test Coordinate Geometry

1.

What is the slope of a line that is parallel to the line
whose equation is 3x — 2y = 77

The lines3y+1=6x+4and2y+1=x-9 are

1) parallel

2) perpendicular

3) the same line

4) neither parallel nor perpendicular

Given directed [ine segment AB , where A(0,0)
and B(12,0). Determine the point P that
partitions the segment into a 1:2 ratio.

The two lines represented by the equations
below are graphed on a coordinate plane.
x+6y =12
3x-2)=-y-4

Which statement best describes the two lines?

1) The lines are parallel.

2) The lines are the same line.

3) The lines are perpendicular,

4) The lines intersect at an angle other than

90°.

In circle O, diameter RS has endpoints
R(3a,2b-1) and S(a- 6,4b+5). Find the
coordinates of point O, in terms of @ and b.
Express your answer in simplest form.

If BC has endpoints B(6,8), and C(8,4). Write
an equation that represents the perpendicular

bisector of BCY

Given the points A(-1, 2) and B(7, 14), find the
coordinates of the point P on directed line

segment AB that partitions AB in the ratio 1:3,

USE THE FORMULA.

Geometry CC

8. Directed line segment ABis partitioned by point

P into a ratio of 2:3. Which of the following
represent this relationship?

1) 3)
A P B A P B
» ° o 4 P el el
2) 4)
A P B 4 P B
. - . s ¢ . d ¢ ¢

9. The midpoint of 43 is 24(4,2). If the
coordinates of 4 are (6,-4), what are the
coordinates of BY?

10. What is the slope of the line containing the
points (3, 4) and (-5, 10)?

11.  Which equation represents the ine that passes

through the point (~2,2) and is parallel o -
r= :_]gx + 87

! y:%x

2 p=-y-3

J o y= -f;- x43

4 p=-Ir43

15



12. Given MN shown below, with A(~6,1) and 14, Inthe diagram below, AABC has vertices A{4,5),
N(3,~3), what is an equation of the line that passes B2, 1y, and C(7,3).
through point P(6,1) and is parallel to MN?

*

What is the slope of the altitude drawn from A to

I p=—zx43 BC?
2
2 bz
2 y=-gx-3 2
3
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13. Find the area AND perimeter of AABC with vertices
A (-3, 1), B(1, 3), C(2, -4). Round values to the
nearest tenth.
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